HOLIDAY HOMEWORK WORKSHEET

faug - forg HHIEH - 1 helT -4
(1) T 3iek ht ga@ atét T fafaul | (12) 2 Aem fifcg-
(2) &t sichl &t ga« 9t de faf@g) | (800+20+5 939
(3) A sieht A G SNA T 0+400+7 412
fafag 13+900 +30 805 |
(4) ¥R 3i<hl Y e a1t T faf@q | is0+6+700 465 |
(5) ST 630581 H 3 ahl WITH AT 2+400+10 229
e 30 + 500 + 9 249
(s)ﬁa;xraazsmﬁsmwﬁum 100 + § + 700 825
i200+20+9 539
(7) =41 703215 H 0 T TATHI AT : ,
fafag 5 + 400 + 60 756
(8) 7 st i Fverd T 612 2 :200+9+4o 417
fawafa =u A faf@u-
(9) ITETR IR ITd G € hl 3ichl & ) LW
faf@ 87135 | 80000 + 7000 + 100 + 30 + 5
(10) 4653 <kt 2T=5| & fAf@T| 65801
(11) Tfdra =u # faf@u- 12357
S00 + 70 + 4
500 + 9 67352
300 + 20 + 2 73892
00 + 10 + 4
34841
400 4+ 40 4+ 5
100 + & 65189
200 + 60 + 1 59327
800 + 50 + 5
e 42834

feiere feiem gare




HOLIDAY HOMEWORK WORKSHEET

faw - wrfora R - 2 HET - 4
(14) ¥@iferd 3iek =1 T 714 fAf@T1 | (16) g1 FifSe-
363 273 958 428
QDJCDJLDJ +125 +351 +345 +239
562 623 125 625
(CDJ(_EB) L@Jm 280 -24PWRsills  -n2e
il 523 720 753 580
C(%J%J 473 X 45 x 19 x 13 x 18
843 758 847

9)7783 6)960 10)i58 11)165

(15) e @ uRG- | (17) 11 & 20 9= ver2 fAfAu-
IX1z [i2Xl= [BXIlz [lkXlz [B5XI=
.44+ =55 11.22+___ =38 |uX2= |2X2: [BX2:= |[4X2: [5X2-
MX3=  |2x3= |3X3:= [4X3= [5X3=
) ) X4z [2X4= |[BX4=z [l4X4=z [5X4=
2.7x___=28 12.6x___=36 Liyc o5 [3Xs5- [exs: [5X5e
X6z |l2X6= |3X6= [4X6= [5X6=
390-___ =50 13.35-__ =20 lux7- loX7- [BX7= |4X7:= |BX7-
X8= [2%8= |[BX8= |[14X8= [5X8-
4. 24 + = 48 14. 30+_: 60 [I1X9:= 2X9= [13X9= [14X9= [I5X9:=
— X100 l2Xxiw0= |3x0= [exio-  |15X10-
. . XU X1 [BXU=  [4XU= [5XU
S.Mx___ =77 1B.4x_=8 livp oy [Bxi= Juxie  [5Xi
6X1= I7X1= 18X1= 9X1= 0X1=
6. -10=25 16.__ -9=18 |ex2- [|i7x2- |8X2= |9X2= |0X2-
bX3= [7X3= [18X3= [9X3= [0X3-:
o +44-64 17. +17=30 l6X4= |7X4= |BX4= |9X4= |0X4=
— — bX5: |7X5:= [I8X5= |9X5= [|20X5-
) bX6= |7X6= [BX6= [|9X6= [|20X6=
8.___x5=20 18.__x12=24 N7, lox7- |8X7: |9X7- |0X7-
bX8= |7X8= [18X8= |9X8= |W0X8:
9.  -10=35 19._ -20=20 |6X9= |7X9: [8X9= [9X9= [20X9-
bX10-  |7X10- |18XI0= |9X10= |20 X10=
) _oolext= frxu= [®Xxu= j9xu= |20 X1
10.___+40=80 20 +30=90 bXl= [7Xlz= [IBXI= |9XI= |01z

{2 feiem garg




